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o ck=24N/mm2 (fiek=) 48. 460 m3
2~3|V1=1/2X (3. 757+3.581) X1/2X (2.710+2.785) = 10. 081
3~4|V2=1/2X (3.581+3.248) X1/2X%X (5.335+5.086) = 17.791
(EERR)
2~4|V3=2.700X1/2 X (8. 276+6. 974) = 20. 588
Tl 108. 59 m2
— I (HiERE)
2~3|Al=1/2X (12.52+11.94) X1/2X (2.710+2.785) = 33.60
3~4| A2=1/2X (11.94+10.83) X1/2X (5.335+5.086) =59, 32
(EERR)
2~4[ A3= 0. 60X (10. 105+9. 738) =11.91
()
227 | Ad= 2-2WriE =7 U — MEE = 3.76
EINiT]
P EER LY
SD345 (D13) (D13) W= 10.685 t
P EER LY
SD345 (D16~D25) (D16) Wi=1.081 t
(D19) W2= —
(D22) W3= —
(D25)  W4=2.881 t
Yjar 7 UJ—F 3. 142 m3
o ck=18N/mm2 V1= 0.470%2.2604+1/2 X (0. 470+0. 342) X0.450 = 1.245
Vo= 1/2 X (0. 342+0. 369) X 5. 335 =1.897
A AP 1. 05 m2
B Al=0.20X2.260+1/2X (0.2040. 10) X0.450 = 0.52
A2=1/2% (0. 1040. 10) X 5. 335 =0.53
B A
BEE B | Al= 227 I 3518 6. 46 m2

t=20mm




Ty s BAEE

BB BT
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X Sy b7y
IEINS RS B S S,
i T A peRE
[1. 0% 7-v ]
e85 T
Wk 7 92. 92 H#m2
2~3| Al= 1/2X (12.52+11.94) X1/2X (2. 7104+2.785) = 33. 60
3~4| A2= 1/2x (11.94410.83) X 1/2% (5.335+5.086) = 59. 32
B 7 ) — |k 12. 875 m3
o0 ck=18N/mm2
2~3| Vi= 1/2X (0. 0+2. 319) X0. 450 =0.522
3~4| v2= 1/2x (2.319+2. 312) X5. 335 =12.353
A 0. 539 m3
o0 ck=18N/mm2
2~3| Vi= 1/2X (0. 0+0. 098) X 0. 450 =0.022
3~4| v2= 1/2x (0. 098 40. 096) X 5. 335 =0.517
I 6. 03 m2
— R
2~3| Al= 1/2X (0. 0+1. 07) X0. 450 =0.24
3~4| A2= 1/2X (1. 07+1. 10) X5. 335 =5.79
KA T 9.29 m
VP ¢ 65

fithE 7 J— @ X1/3
(10.081+17.791) X1/3

=9.29
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X 4y 5 7av
ARt RS I\, =
W T ERE
[1.0m%47=v ]
(2-2/8r1Ai)
a7 )—k 6. 457 m3
o ck=24N/mm2 (fitE®)
Vi= 1/2X (6. 258+6. 266) X 0. 600X 1.0 =3.757
(EERR)
V2= 0. 600X 4. 500X 1.0 =2.700
TRl e 13.72 m2
— I (HiERE)
Al= (6.258+6.266) X 1.0 =12.52
(JEERR)
A2=0.600X2X 1.0 =1.20
Yjar 7 U—F 0.470 m3
o ck=18N/mm2 | V1= 4.700X0.100X1.0
A B R 0.20 m2
®L Al=0.10X2X1.0
Jes N 12. 52 #m2
Wi 2 Al= (6. 258+6.266) X 1.0
(3-3/¥rri)
a7 )—k 6.281 m3
o ck=24N/mm2 (fitE®)
V1= 5.969X0.60X1.0 = 3.581
(EERR)
V2= 0. 600X 4. 500X 1.0 =2.700
TRl e 13. 14 m2
— I (HiERE)
Al=5.969X2X 1.0 =11.94
(JEERR)
A2=0.600X2X 1.0 =1.20
Yjar 7 U—F 0. 342 m3
o ck=18N/mm2 | Vi= 1/2X (3.401+3.431) X0. 100X 1.0
A B R 0.10 m2
L Al=0.10X1X 1.0
per N 11.94 #m2

IRTEA

Al=5.969X2X1.0




MR bR
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X 4y 5 7av
ARt RS L I\ =
W T ERE
B 7 ) — R 2.319 m3
o ck=18N/mm2 | V1= 1.500X1.500X 1.0 =2.250
Vo= 1/2X%0.479X0. 287X 1.0 = 0. 069
e S 0. 098 m3
o ck=18N/mm2 | V1= 1.400X 1. 0444}k X<0. 05X 1.0 =0.073
V2= 0. 479X 1. 0444} X 0. 05X 1. 0 =0.025
il P 1. 07 m2
— I Al= (1.50—0.479) X 1. 0444+ X 1. 0
(4-41¥r1Ai)
a7 )—k 5.948 m3
o ck=24N/mm2 (fitE®)
Vi= 1/2X (5. 400+5. 427) X0.600X 1.0 =3.248
(EERR)
V2= 0.600X4. 500X 1.0 =2.700
il P 12. 03 m2
— I (HiERE)
Al= (5.400+5.427) X 1.0 =10.83
(JEERR)
A2=0.600X2X1.0 =1.20
Yjar 7 U—F 0. 369 m3
o ck=18N/mm2 | vi= 1/2X (3.672+3.704) X0. 100X 1.0
Al B R 0.10 m2
L Al=0.10X1X 1.0
Jes N 10. 83 Hm2
FAH A Al= (5.400+5.427) X 1.0
B 7Y — R 2.312 m3
o ck=18N/mm2 | V1= 1.500X1.500X 1.0 =2.250
Vo= 1/2X%0.447X0.279% 1.0 =0.062
=T A 0. 096 m3
o ck=18N/mm2 | V1= 1.400X 1. 0444}k X<0. 05X 1.0 =0.073
V2= 0. 447X 1. 0444} b6 X 0. 05X 1. 0 =0.023
1.10 m2

Al= (1.50—0. 447) X 1. 0444}k X 1.0
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[1. 0% 7-v ]
a7 —Fk
o ck=24N/mm2 (fiek=) 69. 595 m3
2~3[ V1= 1/2X% (3.240+3. 240) X 11. 153 =36.136
(JEAR)
2~4[V2=3.000x11. 153 = 33.459
Tl 140. 07 m2
— IR (ftE®)
2~3[ A1=1/2% (10.80+10. 80) X 11. 153 =120. 45
(JEAR)
2~4| A3= 0.60X (11. 153 +11. 153) =13.38
(Sath)
2-2Wr T | Ad= 2-2Wrii =7 ) — MK = 6.24
5]
P EER LD
SD345 (D13) (D13) W=10.933 t
P EER LD
SD345 (D16~D25) (D16)  Wi1=1.449 t
(D19) W2= —
(D22) W3=2.854 t
(D25) W4= —
P EER LD
SD345 (D29~D32) (D29) Wi= —
(D32) W2= —
a7 1) —hk 4,372 m3
o ck=18N/mm2 | vi= 1/2X (0.392+0.392) X 11. 153 =4.372
Al E R 1.12 m2
®L Al=1/2X% (0. 10+0. 10) X 11. 153 =1.12
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7wy REIEE

X 6Ty
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i T A peRE
[1. 0% 7-v ]
H Hkt
TESEH R | Al= 22 K7 10 3515 6. 24 m2
t=20mm
e85 T
FekH A 120. 45 ¥m2
2~3| Al= 1/2% (10. 80+10. 80) X 11. 153 =120. 45
B 7 ) — |k 25. 808 m3
o ck=18N/mm2
2~3| vi= 1/2X (2. 325+2. 303) X 11. 153
= 25. 808
A IV 1. 082 m3
o ck=18N/mm2
2~3| vi= 1/2% (0. 099+0. 095) X 11. 153 =1.082
Tl fe 12. 10 m2
— iR P
2~3| A1=1/2X (1. 04+1.13) X 11. 153 =12.10
KA T 12.05 m
VP ¢ 65 ftREo L 7 ) — X 1/3
36. 136X 1/3 =12.05
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W T ERE
[1.0m%47=v ]
(2-2/8r1Ai)
a7 U—h 6. 240 m3
o ck=24N/mm2 (fitE®)
Vi= 5. 400X 0. 600X 1.0 = 3. 240
(EERR)
V2= 0. 600 X 5. 000X 1.0 = 3. 000
il P 12. 00 m2
— I (HiERE)
Al=5.400X2X 1.0 =10. 80
(JEERR)
A2=0.600X2X 1.0 =1.20
Yjar 7 U—F 0.392 m3
o ck=18N/mm2 | Vi= 1/2X (3.900+3.930) X 0. 100X 1.0
Al B R 0.10 m2
®L Al=0.10X1X1.0
Jes N 10. 80 #m2
FAH A Al= 5. 400X 2X 1.0
Ez L 7 Y —h 2.325 m3
o ck=18N/mm2 | Vi= 1.500X 1. 500X 1.0 =2.250
V2= 1/2%0.500X0.300X 1.0 =0.075
=T A 0. 099 m3
o ck=18N/mm2 | V1= (1.400-+0.500) X 1. 0444} <0. 05X 1.0
il P 1. 04 m2
— i Al= (1.50—0.500) X 1. 0444}k X 1. 0
(3-3rri)
a7 U—h 6. 240 m3
o ck=24N/mm2 (fitE®)
Vi= 5. 400X 0. 600X 1.0 = 3. 240
(EERR)
V2= 0. 600 X 5. 000X 1.0 = 3. 000
il P 12. 00 m2
— I (HiERE)
Al=5.400X2X 1.0 =10. 80
(JEERR)
A2=0.600X2X 1.0 =1.20
Yjar 7 U—F 0.392 m3
o ck=18N/mm2 | Vi= 1/2X (3.900+3.930) X 0. 100X 1.0
Al B R 0.10 m2
L Al=0.10X1X 1.0
per N 10. 80 #m2

PiE 7

Al=5.400X2X1.0
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1 T ek
B 7 ) — |k 2.303 m3
o ck=18N/mm2 | Vi= 1.500X1.500X1.0 =9.250
Vo= 1/2X0.419X0. 253X 1.0 =0.053
A 0. 095 m3
o ck=18N/mm2 | Vi= 1. 400X 1. 0444} FE X 0. 05X 1. 0 =0.073
Vo= 0.419 X 1. 0444} kk X 0. 05X 1. 0 =0.022
R e 1.13 m2

— B

Al= (1.50—0.419) X 1. 0444}k X 1.0
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Ty B
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Wi T s
[1.0:47-0 )
a7 U—F
o ck=24N/mm2 (#tRB=) 69. 607 m3
2~4| V1= 1/2X (3.240+3. 240) X 11. 155 = 36. 142
(EERR)
2~4|V2=3.000x11. 155 = 33. 465
Tl 140. 10 m2
— I (HiERE)
2~4| Al= 1/2X (10.80+10. 80) X 11. 155 = 120. 47
(EERR)
2~4[ A3=0.60x2X11. 155 =13.39
()
A= 2-2WriE =7 U — MEE = 6.24
EINi]
P EER LY
SD345 (D13) (D13)  W=10.942 t
P EER LY
SD345 (D16~D25) (D16) Wi=1.449 t
(D19) W2= —
(D22) W3= —
(D25)  W4= 3.769 t
P EER LY
SD345 (D29~D32) (D29) Wi= —
(D32) W2= —
Yjar 7 U—F 3.941 m3
o ck=18N/mm2 | V1= 0.392X2.365+1/2 X (0.39240. 342) X 0. 300
=1.037
Vo= 1/2 X (0. 342+0. 342) X 8. 490 =2.904
A AP 1.12 m2
B Al= 0. 10X 2. 365-+1/2X% (0. 10+0. 10) X 0. 300
=0.267
A2=1/2X (0. 1040. 10) X 8. 490 = 0. 849




MR bR
Ty B

—RET R

$M?

X Sy 7Ty

IS B I\, =
Wi T s
[1.0:47-0 )
H Hkt
BEE B | Al= 227 I 3518 6. 24 m2
t=20mm
25T
FhE. 120. 47 #m2
2~4| Al= 1/2X (10.80+10. 80) X 11. 155 = 120. 47
Eza L 7 ) —h 50. 756 m3
o ck=18N/mm2
2~3| V1= 2. 303X 2.365+1/2X (2. 303+5. 329) X 0. 300
=6.591
3~4| v2= 1/2x (5.329+5. 075) X 8. 490
= 44. 165
R—=TF A v 1.671 m3
o ck=18N/mm2
2~3| V1= 0. 095X 2. 365+ 1/2X (0. 095-+0. 180) X 0. 300
= 0. 266
3~4| v2= 1/2x (0. 18040. 151) X 8. 490
=1.405
Tl 18.39 m2
— I
2~3| Al= 1. 13X2.365+1/2X (1. 13+1. 52) X0. 300
=3.07
3~4| A2= 1/2X (1. 5242. 09) X 8. 490
=15.32
Jes N 8. 87 #m2
B AL
3~4[ vi= 1/2x (0. 0+2. 090) X 8. 490 =8.87
KA 7 12.05 m
VP ¢ 65 fEEE= > 7 ) — R EX1/3
36. 142X 1/3 =12.05
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W T ERE
[1.0m%47=v ]
(2-2/8r1Ai)
a7 )—k 6. 240 m3
o ck=24N/mm2 (fitE®)
Vi= 5. 400X 0. 600X 1.0 = 3. 240
(EERR)
V2= 0. 600 X 5. 000X 1.0 = 3. 000
il P 12. 00 m2
— I (HiERE)
Al=5.400X2X 1.0 =10. 80
(JEERR)
A2=0.600X2X 1.0 =1.20
Yjar 7 U—F 0.392 m3
o ck=18N/mm2 | Vi= 1/2X (3.900+3.930) X 0. 100X 1.0
Al B R 0.10 m2
®L Al=0.10X1X1.0
Jes N 10. 80 #m2
FAH A Al=5.400X2X 1.0
B 7Y — R 2.303 m3
o ck=18N/mm2 | V1= 1.500X1.500X 1.0 =2.250
V2= 1/2X0.419X0.252X 1.0 =0.053
R—=F (v 0. 095 m3
o ck=18N/mm2 | Vi= (1.400+0.419) X 1. 0444} <0. 05X 1.0
il P 1. 13 m2
— AP Al= (1.50—0.419) X 1. 0444} X 1. 0
(3-3/¥rri)
a7 )—k 6. 240 m3
o ck=24N/mm2 (fitE®)
Vi= 5. 400X 0. 600X 1.0 = 3.240
(EERR)
V2= 0. 600 X 5. 000X 1.0 = 3. 000
il P 12. 00 m2
— I (HiERE)
Al=5.400X2X 1.0 =10. 80
(JEERR)
A2=0.600X2X 1.0 =1.20
Yjar 7 U—F 0. 342 m3
o ck=18N/mm2 | Vi= 1/2 X (3. 400+ 3. 430) X 0. 100X 1.0
Al B R 0.10 m2
L Al=0.10X1X 1.0
per N 10. 80 #m2

IRTEA

Al=5.40X2X1.0
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ARt RS L I\ =
W T ERE
Ez L 7 ) —h 5. 329 m3
o ck=18N/mm2 | V1= 2.500X2.000X 1.0 =5.000
Vo= 1/2X1.047X0. 628X 1.0 =0.329
e S 0. 180 m3
o ck=18N/mm2 | V1= 2. 400X 1. 0444}k X 0. 05X 1.0 =0.125
V2= 1. 047X 1. 0444} b6 X 0. 05X 1. 0 = 0. 055
il P 1.52 m2
— i Al= (2.50—1.047) X 1. 0444} X 1. 0
(4-41¥r1Ai)
a7 )—k 6. 240 m3
o ck=24N/mm2 (fitE®)
V1= 5.400X0. 600X 1.0 = 3.240
(EERR)
v2=0.600X5. 000X 1.0 = 3. 000
il P 12. 00 m2
— I (HiERE)
Al=5.40X2X 1.0 =10. 80
(JEERR)
A2=0.600X2X1.0 =1.20
Yjar 7 U—F 0. 342 m3
o ck=18N/mm2 | vi= 1/2X (3.400+3.430) X0.100X1.0
Al B R 0.10 m2
L Al=0.10X1X 1.0
Jes N 10. 80 #m2
FAH A Al=5.40X2X 1.0
Ez L 7 ) —h 5.075 m3
o ck=18N/mm2 | V1= 2.500X2.000X 1.0 =5.000
V2= 1/2X%0.500%0.300X 1.0 =0.075
=T A 0.151 m3
o ck=18N/mm2 | V1= 2. 400X 1. 0444}k X0. 05X 1.0 =0.125
V2= 0. 500X 1. 0444}t < 0. 05X 1. 0 =0. 026
il P 2.09 m2
— i Al= (2.50—0.50) X 1. 0444} 6 X 1. 0
BT 2. 09 $Hm2
A fEARL Al= (2.50—0.50) X 1. 04444 X 1. 0
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2R Hi = = B {1 o=
vy )—k
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Eidp ol
— R (0.95+0.80) X 10.0 = 17500 m2 17.50
E5 955
SD345,D13 (1.50 X 10.0=-0.20m+ 72 X 10.0) X 0.995 = 144275 kg 1443
BaER
RC-40 t=150mm 1.00 X 10.0 = 10.000 m2 10.00
B 4t
BEEEEMR. t=10mm|2.63%1/10 = 0.26 m2 0.26
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fEfE L4t
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